
 
electrical engine stop control speed limiter constant engine speed ctr CH 102291-   (Tunniste: VO-VCS0126003600710) 
A:  
 

Alustatunnus Polku
36/Osat//electrical engine stop control speed limiter constant engine speed ctr CH 102291-

Malli Tunniste
VO-VCS0126003600710

Pos Osanro A PS Kuvaus Huomautuksia
1 3127114 1 NS  Attaching plate

2 969409 4 SP  six point socket screw M5x25

3 1573057 4  spacer sleeve

4 949874 4 SP  flange lock nut M5

5 3127679 1 OP  electronic unit 80km/h. CH 106240-
 speed limiter

3127289 1 OP  electronic unit 85km/h. CH-106239
 speed limiter

1070666 1  electronic unit (3127288)(3127287)
 speed limiter (3127294)(3127295)
 cruise control (3127681)(3127682)

89.5km/h.
1070069 1  electronic unit; Electronic unit; speed limiter 90km/h.
1070070 1 OP  electronic unit (3127290) CH-106239.

 speed limiter 88km/h
 cruise control

1070995 1 OP  electronic unit
 speed limiter
 cruise control
 power take-off

8152283 1 OP  ELECTRONIC UNIT 96km/h
 speed limiter

3127680 1 OP  electronic unit 110km/h. CH 106240-
 speed limiter

3127291 1 OP  electronic unit 117km/h
 speed limiter

3950099 1  electronic unit 90km/h,

 speed limiter CHID B153001-.
1071977 1 OP  electronic unit 6km/h. SPCL S-61016.

 speed limiter

5a 1071140 1 OP  electronic unit

6 969278 4  six point socket screw (972016)

7 3127283 1 NS  WIRING HARNESS
 speed limiter

1070583 1  WIRING HARNESS
 speed limiter
 cruise control

7a 3127282 1  WIRING HARNESS
 cruise control

7b 3127285 1 OP    ›   connector

1 / 3

Copyright to this documentation belongs to the Volvo Group. No reproduction, copying, change, amendment or other similar disposal is entitled without prior written consent by
the Volvo Group

Tässä olevat tiedot ovat voimassa niiden alkuperäisen jakelun yhteydessä, mutta niitä voidaan muuttaa. Lukijan on huomattava, että tulostetut kopiot voivat olla vanhentuneita.

IMPACT 4.04.21 22.5.2018



Pos Osanro A PS Kuvaus Huomautuksia
8 8152624 1 OP  COVER

9 969462 1  six point socket screw

10 3127173 1 OP  WIRING HARNESS

3950929 1 OP  WIRING HARNESS CHID B153001-.

11 8132024 1  actuator (3125054)
 speed limiter

1072478 1  ELECTRIC MOTOR; Motor KH, D6A.
 speed limiter

1072479 1 OP  ELECTRIC MOTOR; Motor ADR-FR. KH.
 speed limiter

1072096 1 OP  speed limiter ADR-FR. LH.
 speed limiter

12 3125079 1 OP  bracket

13 945358 4 SP  flange screw M6x10

14 946440 4 SP  flange screw M8x16

15 3125148 1 OP  bracket TD 63E, LH.

16 946173 2 SP  flange screw M8x20

17 948645 2 SP  flange lock nut M8

18 3127284 1  potentiometer
 cruise control

19 1082155 1    ›   COVER

20 948702 1    ›   cable tie

21 3125055 2  SEALING COVER

22 466107 X SP  sealing wire (1507304)(9985963)

23 20428724 X  seal (1507303)(9985962)
24 3126683 1 OP  label 120km/h
25 1611355 1 OP  SEALING COVER

2 / 3

Copyright to this documentation belongs to the Volvo Group. No reproduction, copying, change, amendment or other similar disposal is entitled without prior written consent by
the Volvo Group

Tässä olevat tiedot ovat voimassa niiden alkuperäisen jakelun yhteydessä, mutta niitä voidaan muuttaa. Lukijan on huomattava, että tulostetut kopiot voivat olla vanhentuneita.

IMPACT 4.04.21 22.5.2018



electrical engine stop control speed limiter constant engine speed ctr CH 102291-   (Tunniste: VO-VCS0126003600710)

3 / 3

Copyright to this documentation belongs to the Volvo Group. No reproduction, copying, change, amendment or other similar disposal is entitled without prior written consent by
the Volvo Group

Tässä olevat tiedot ovat voimassa niiden alkuperäisen jakelun yhteydessä, mutta niitä voidaan muuttaa. Lukijan on huomattava, että tulostetut kopiot voivat olla vanhentuneita.

IMPACT 4.04.21 22.5.2018


